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>> DR. HOLLENBECK IS VICE PRESIDENT, SENIOR ECONOMIST AND DIRECTOR OF PUBLICATIONS WITH THE W.E. UPJOHN INSTITUTE FOR EMPLOYMENT RESEARCH IN KALAMAZOO, MICHIGAN. SO, IT'S A PLEASURE FOR ME CALLING MICHIGAN MY HOME TO HAVE THE ABILITY TO INTRODUCE HIM. HE'S AN ADJUNCT PROFESSOR OF ECONOMICS AT WESTERN UNIVERSITY. HE HAS OVER 35 YEARS RESEARCH AND AOL EVALUATION EXPERIENCE IN WORK FORCE DEVELOPMENT AND EDUCATION AND TRAINING. RECENTLY HE AUTHORED A GUIDE TO ROI FOR WORK FORCE DEVELOPMENT BOARD MEMBERS AND LED A SEMINAR AT THE NATIONAL ASSOCIATION FOR WORK FIRST BOARDS ON THE TOPIC. HE IS CURRENTLY PARTICIPATING  IN THE 38th ANNUAL RIR -- ROI IN VR. SAY THAT EIGHT TIMES FAST.  

[LAUGHTER]

>> THE RIR ON ROI IN VR. AND MANY OF MY COLLEAGUES IN THE ROOM ARE WITH HIM. SO, IT'S A JOY TO HAVE HIM WITH US. IN ADDITION TO HIS PROFESSIONAL ACTIVITIES, THE DOCTOR HAS SERVED ON HIS LOCAL SCHOOL BOARD FOR 14 YEARS, 7 YEARS AS PRESIDENT AS WELL AS PRESIDENT OF THE MICHIGAN ASSOCIATION OF SCHOOL BOARDS. AND SERVES AS THE VICE PRESIDENT OF THE PINE LAKE FUND WHICH IS A FOUNDATION AFFILIATED WITH A RESIDENTIAL VR FACILITY THAT'S NEAR AND DEAR TO MY HEART, WHICH IS THE MICHIGAN CAREER TECHNICAL INSTITUTE. SO, WELCOME, PLEASE, THANK YOU, DR. HOLLENBECK. 

(APPLAUSE)

>> IT WILL TAKE JUST A MINUTE FOR ME TO GET THE SLIDES UP. I'M REALLY PLEASED TO BE HERE. I'M STAYING WITH MY DAUGHTER WHO LIVES IN TOWN, AND WE LEFT HER HOUSE AT 7:15 THIS MORNING. AND AT 8:15 WE WERE EXACTLY TWO MILES AWAY FROM HER HOUSE, LESS THAN HALFWAY HERE.  

[LAUGHTER]

>> THERE WAS A HUGE ACCIDENT ON 2 81 UP NEAR THE AIRPORT AND I GOT A LITTLE BIT NERVOUS. BUT THEN, OF COURSE, WE PASSED THE ACCIDENT AND SAILED ON DOWN HERE, SO, I'M PLEASED TO BE HERE. WOW, IT'S TAKING A WHILE TO GET THIS UP AND RUNNING. SOMETIMES WHEN I INTRODUCE MYSELF I ASK THAT THE DOORS BE CLOSED AND SAY, YOU KNOW, I'M AN ECONOMIST SO PEOPLE DON'T RUN AWAY.  

[LAUGHTER]

>> ECONOMICS IS SOMETIMES CALLED THE DISMAL SCIENCE. YOU SEE ECONOMISTS ON TV AND ONE PERSON WILL SAY WE NEED TO INCREASE THE MONEY SUPPLY, THAT'S THE PROBLEM, AND SOMEONE ELSE WILL SAY, NO, UNLESS WE REDUCE THE MONEY SUPPLY WE'RE NOT GOING TO GROW. SO, WE GENERALLY ARGUE WITH OURSELVES AND TRY TO BE AS DISMAL EACH OTHER.  

[LAUGHTER]

>> AND IN ADDITION TO THAT, I'M A TRAINED EVALUATOR. AND, SO, THAT MEANS I'M A PROFESSIONAL SKEPTIC.  

[LAUGHTER]

>> SO, I'M THE DISMAL SKEPTIC IN FRONT OF YOU THIS MORNING, ALTHOUGH I THINK THE PREVIOUS SPEAKER SORT OF BROUGHT THE THE DISMAL PART OUT.  [LAUGHTER]   >> SO, WE'VE GOT THAT TAKEN CARE OF. ALL RIGHT. SO, I'M REALLY ESPECIALLY PLEASED TO BE IN SAN ANTONIO. AS I SAID, MY DAUGHTER LIVES HERE. SHE IS A PROFESSOR AT TRINITY UNIVERSITY JUST UP THE STREET HERE. AND I HAVE TWO REALLY LOVELY GRANDCHILDREN. AND QUITE BY ACCIDENT, THIS WASN'T PLANNED AT ALL, BUT TOMORROW I'M GOING TO BE FLYING BACK TO MICHIGAN TOMORROW AFTERNOON. BUT TOMORROW IS GRANDPARENTS DAY AT MY GRANDSON'S ELEMENTARY SCHOOL SO I'M GOING TO GET TO PARTICIPATE IN THAT.    (APPLAUSE) >> THAT REALLY WORKED OUT REALLY WELL. OKAY. SO, I LIKE TO INVOLVE -- GET INVOLVED WITH THE AUDIENCE A LITTLE BIT WHEN I TALK. SO, I'M GOING TO BE DOWN HERE AND ASK DARLENE TO CHANGE THE SLIDES. I'VE GIVEN LOTS OF PRESENTATIONS AT CONFERENCES TO AUDIENCES OF THIS SIZE, BUT I'VE NEVER HAD IT CALLED A KEYNOTE BEFORE. SO, THIS IS REALLY NERVE RACKING FOR ME. SO, I HOPE THAT --  

[LAUGHTER]

>> I MEAN, THIS IS REALLY A HIGHLIGHT NOW, I'VE GIVEN A KEYNOTE.  

[LAUGHTER]

>> BEING A PART-TIME COLLEGE PROFESSOR AS DARLENE MENTIONED, I TEACH ECONOMICS AT WESTERN MICHIGAN UNIVERSITY IN ADDITION TO MY FULL-TIME JOB AT THE UPJOHN INSTITUTE. AND ACTUALLY I GAVE A LECTURE TUESDAY NIGHT, WAS MY FIRST LECTURE FOR THE SEMESTER. SO, I SORT OF TEND TO GET INTO LECTURE MODE. BUT IF I SAY ANYTHING THAT'S NOT CLEAR OR WHATEVER AND YOU HAVE A QUESTION, PLEASE INTERRUPT ME WITH QUESTIONS. WE'LL TRY TO KEEP IT MOVING AND NOT GET BOGGED DOWN IN POINTS, BUT I DO WELCOME QUESTIONS AND I APOLOGIZE IF I GET TOO MUCH OF A LECTURE.  

>>> SO, ANYWAY, THE PREVIOUS SPEAKER GAVE A QUOTE FROM EINSTEIN, BECAUSE I WANTED TO START WITH A QUOTE FROM EINSTEIN ALSO, BUT A DIFFERENT QUOTE. AND SINCE I'M GIVING -- AS YOU'LL SEE MY POWERPOINT HAS A WHOLE BUNCH OF MATHEMATICAL FORMULAS, I THOUGHT I'D START OUT WITH A FORMULA FROM EINSTEIN. DARLENE, CAN YOU CLICK?  IF A EQUALS SUCCESS, THEN THE FORMULA IS A EQUALS X PLUS Y PLUS Z WHERE X IS WORK.  

[LAUGHTER]

>> I LIKE TO THINK HE MEANT HARD WORK AND Y IS HARD PLAY AND Z IS KEEP YOUR MOUTH SHUT.  

[LAUGHTER]

>> A TRUE QUOTE. OKAY. LET ME START OUT, I'M TALKING ABOUT RETURN ON INVESTMENT THIS MORNING. AND THIS IS ONE OF THE SLIDES IN THE PRESENTATION I GAVE BEFORE. SO, LET ME START OUT WITH TALKING ABOUT THE INTEREST RATE. NOW, WE'RE ALL PRETTY FAMILIAR WITH INTEREST RATES WHEN YOU TAKE OUT A LOAN, YOU ALWAYS HAVE TO REPAY IT PLUS INTEREST. AND WE LEARNED -- OR I TEACH TO MY STUDENTS THAT INTEREST RATES ARE POSITIVELY RELATED TO THE INFLATION RATE. IF YOU EXPECT FUTURE INFLATION TO BE HIGH, YOU CHARGE PEOPLE A HIGHER RATE OF INTEREST. IT'S HIGHER IF THERE'S MORE RISK INVOLVED IN THE LOAN. THAT'S WHY I 30-YEAR MORTGAGE HAS A HIGHER INTEREST RATE THAN A 15-YEAR MORTGAGE BECAUSE THERE'S SLIGHTLY MORE RISK. AND RELATED TO THAT, INTEREST RATES ARE HIGHER THE LONGER THE TERM OF REPAYMENT. NEXT SLIDE, PLEASE. SO, HERE'S MY FIRST HAIRY FORMULA FOR YOU. THIS IS A FORMULA THAT MAYBE MANY OF YOU KNOW FOR THE PRESENT VALUE OF AN INVESTMENT. IF YOU MAKE AN INVESTMENT TODAY OF $1,000 AND IN RETURN FOR THAT INVESTMENT YOU'RE GOING TO GET SOME PAYMENTS BACK IN THE FUTURE WHICH ARE THE Bs IN THIS FORMULA, THE BENEFITS THAT YOU'RE GOING TO GET IN THE FUTURE, THEN THE VALUE OF THAT INVESTMENT TODAY IS GIVEN BY THIS FORMULA. YOU NEED TO ADJUST THE FUTURE PAYMENTS BECAUSE FUTURE DOLLARS ARE NOT WORTH AS MUCH AS TODAY'S DOLLARS BECAUSE PRICES GO UP GENERALLY. AND, SO, YOU NEED TO WHAT WE CALL DISCOUNT DOWN BY THE INTEREST RATE AND WE USE THIS FORMULA. NEXT SLIDE, PLEASE.  

>>> THERE IS A TERM CALLED THE INTERNAL RATE OF RETURN ON INVESTMENT.  AND WHAT THAT INTERNAL RATE OF RETURN IS IS THE INTEREST RATE IN THE PREVIOUS FORMULA THAT MAKES THE PRESENT VALUE EQUAL TO THE RIGHT-HAND SIDE. ALL THOSE TERMS ADD UP ON THE RIGHT-HAND SIDE. IF YOU WERE AN INVESTOR OR A BANK, FINANCIAL INTERMEDIARY OF SOME SORT AND YOU WERE GOING TO LOAN OUT SOME MONEY TO FOLKS IN RETURN FOR THEM REPAYING IT, THE INTERNAL RATE OF RETURN IS THE HIGHEST RATE OF INTEREST THAT YOU WOULD PAY ON THAT MONEY IN ORDER TO LOAN IT OUT. SO, IF YOU'RE TAKING A MORTGAGE EXAMPLE THE INV TERM IS THE PRINCIPAL OF THE MORTGAGE, AND THE B TERMS ARE THE MONTHLY PAYMENTS YOU GET BACK ON YOUR MORTGAGE, AND THE R IS THE INTEREST RATE. IN MORTGAGES, THE REPAYMENTS ARE USUALLY THE SAME, YOU HAVE THE SAME MONTHLY PAYMENT. SO, THE Bs ARE ALL THE SAME AND YOU HAVE ONE INTEREST RATE. SO, THE Rs ARE ALL THE SAME. SO, THIS FORMULA REDUCES TO THE BOTTOM LINE THERE THE PRESENT VALUE OF THAT MORTGAGE IS EQUAL TO THE MONTHLY PAYMENT, SOMETIMES SUMMATION TERM WHICH I END UP CALLING FACTOR.  

>>> SO, IF YOU HAVE A MORTGAGE -- THESE ARE SOME EXAMPLES. IF THE ANNUAL RATE YOU PAY IS THAT RATE IN THE LEFT HAND TERM, LEFT-HAND COLUMN, AND THE TERM OF YOUR LOAN IN YEARS IS 30 OR 15, AND THE MORTGAGE THAT YOU'RE BORROWING IS 200,000, THEN THAT FACTOR, THAT SUMMATION ENDS UP BEING THESE NUMBERS IN THE THIRD COLUMN. THIS IS WHAT BANKS REALLY DO. ALL OF THIS IS EXACTLY WHAT'S IN THEIR CALCULATORS WHEN THEY'RE CALCULATING MORTGAGE. THE PAYMENTS ARE IN THE FOURTH COLUMN. THE FIFTH COLUMN IS THE TOTAL AMOUNT OF INTEREST OVER AND ABOVE THE $200,000 THAT YOU'RE REPAYING UNDER THESE TERMS. SO, YOU CAN SEE THAT A LONGER TERM MEANS YOU PAY MORE INTEREST. A HIGHER INTEREST RATE MEANS YOU PAY MORE INTEREST. AND BASICALLY ALL OF THAT MORTGAGE STUFF IS USING THAT HAIRY PRESENT VALUE FORMULA THAT I GAVE YOU IN THE SECOND SLIDE. OKAY. BUT WE'RE AT THE CONFERENCE TALKING ABOUT VR AND NOT MORTGAGES. SO, HOW DOES THE WORLD CHANGE OR HOW DO THE FORMULAS CHANGE?  WELL, IN THIS CASE INSTEAD OF INV FOR INVESTMENT, I SAY THAT YOU'RE PROVIDING SERVICES, SERV, THAT HAVE A CERTAIN VALUE TO INDIVIDUALS. AND THOSE INDIVIDUALS WILL BENEFIT IN THE FUTURE TO SOME EXTENT. AND THOSE ARE THE Bs IN THIS FORMULA, THE DOLLAR VALUE OF THOSE FUTURE BENEFITS. AND SOMETIMES THERE WILL BE FUTURE COSTS, LIKE IF YOU'RE PROVIDING ASSISTIVE TECHNOLOGY OR WHATEVER. SO, YOU HAVE TO NET THOSE FUTURE COSTS OUT OF THE FUTURE BENEFITS. AND INSTEAD OF AN INTEREST RATE, I STUCK A D IN THIS FORMULA INSTEAD OF AN R AND THAT D IS CALLED THE DISCOUNT RATE. BUT THE NOTION IS PRETTY MUCH THE SAME, THAT THESE BENEFITS THAT CUSTOMERS ARE GOING TO HAVE IN THE FUTURE NEED TO BE ADJUSTED TO GET THEM VALUED IN TODAY'S TERM. SO, THIS WOULD BE A FORMULA FOR WHAT IS TODAY'S VALUE OF AN INVESTMENT AND A CUSTOMER EQUAL TO SERV IF THAT CUSTOMER GENERATES BENEFITS B1 THROUGH BT OVER THE NEXT TWO YEARS. NEXT FORMULA.  

>>> WELL, IN VR, OF COURSE, AS YOU ALL ARE VERY AWARE, MANY IF NOT MOST BENEFITS ARE NONMONETARY, OKAY. ECONOMISTS DON'T LIKE TO HEAR THAT, BUT IT'S PROBABLY TRUE. HOW DO WE MEASURE THOSE Bs IN THE VR PROGRAM?  WELL, IN MY WORK -- AND I'M GOING TO SHOW YOU AN EXAMPLE HERE IN A MINUTE -- WE MEASURE THEM BY FUTURE EARNINGS. I SHOULD PROBABLY STICK THIS IN MY POCKET, HUH?  BY CHANGES IN TRANSFER INCOME IF THEY ARE RECEIVING A SNAP, THEY MAY NO LONGER RECEIVE IT, OR TANIF OR OTHER CASH PROGRAMS. THERE WILL BE TAXES THAT THEY PAY ON -- ADDITIONAL TAXES ON THE ADDITIONAL EARNINGS, AND MAYBE THEY'LL STOP RECEIVING UNEMPLOYMENT COMPENSATION AND STOP RECEIVING UNEMPLOYMENT COMPENSATION. THOSE ARE ALL THINGS THAT WE CAN KIND OF MEASURE. BUT ON THE RIGHT-HAND SIDE THERE ARE A WHOLE BUNCH OF NONMONETARY BENEFITS AND YOU CAN PROBABLY LIST A WHOLE LOT MORE THAN I CAN. BUT CERTAINLY HEALTH BENEFITS, KNOWLEDGE AND SKILLS, CONFIDENCE, SELF-ESTEEM, FAMILY SKILL, NONCOGNITIVE SKILLS, THERE IS A WHOLE RAFT OF BENEFITS WE CAPTAIN VALUE. AND WE NEED TO KEEP THAT IN MIND WHEN WE'RE DOING AN ROI. NEXT SLIDE.  

>>> SO, LET ME TALK A LITTLE BIT ABOUT THE DISCOUNTING TERM, THE Ds. THEY'RE LIKE INTEREST RATES, LIKE I SAID BECAUSE THOSE FUTURE EARNINGS ARE IN THE FUTURE IN DOLLARS THAT ARE NOT AS VALUED AS TODAY'S DOLLARS. TYPICALLY WHEN WE DISCOUNT, WE USE A DISCOUNT RATE THAT LOOKS LIKE AN INTEREST RATE IN THE RANGE OF 0 TO .1 OR SO. A HIGHER DISCOUNT RATE MEANS THAT TODAY'S PRESENT VALUE IS LOWER. SO, I OFTEN THINK THAT ONE REASON WHY YOUTH TEND TO MAKE POOR DECISIONS, WELL, I'M ASKED WHY IS THAT TRUE?  I SAY IT'S PROBABLY BECAUSE THEIR DISCOUNT RATE IS HIGH. THAT MEANS THEY VALUE TODAY MUCH MORE THAN IN THE FUTURE. THEY'RE THINKING ABOUT TODAY. THEY DISCOUNT THAT FUTURE AT A VERY HIGH RATE. DOESN'T MEAN VERY MUCH TO THEM SO THEY HAVE VERY HIGH Ds IN THEIR DECISION MAKING. NEXT SLIDE.  

>>> THERE'S A TERM CALLED NET PRESENT VALUE, AND NET PRESENT VALUE IN THE FINANCIAL INVESTMENT SENSE IS SUBTRACTING THE INVESTMENT FROM THE PRESENT VALUE OF THE INVESTMENT IN THE VR SERVICE OR WORK FORCE DEVELOPMENT SERVICE WORLD WOULD BE SUBTRACTING THE DOLLAR YOU SPEND ON THE CUSTOMER FROM THE PRESENT VALUE OF THOSE DOLLARS. NOTE THAT NET PRESENT VALUE IS NEGATIVELY RELATED TO THE DISCOUNT RATE AS I WAS JUST SAYING. IF YOU USE A HIGH DISCOUNT RATE, THAT MEANS THEY'RE GOING TO DRIVE DOWN THE PRESENT VALUE OF YOUR SERVICES. AND BASICALLY THIS KIND OF EXPLAINS WHY WE WANT THE FEDERAL GOVERNMENT TO KEEP INTEREST RATES LOW. I TEACH THIS IN MY CLASS. THERE IS A DEMAND FOR INVESTMENT IN SOCIETY, IN THE ECONOMY THAT IS DOWNWARD SLOPING LIKE MOST DEMAND CURBS. AND THE PRICE IS THE INTEREST RATE. AND, SO, IF WE LOWER THE INTEREST RATE WE'RE GOING TO GET MORE INVESTMENT AND WE'RE GOING TO GROW THE ECONOMY. SO, THAT'S WHY WE WANT THE FEDERAL RESERVE AND WHAT IN FAVOR OF THE INSTITUTION, NOT TO KEEP INTEREST RATES LOW. NO, ACTUALLY MILTON FRIEDMAN THOUGHT THE WHOLE FEDERAL RESERVE SYSTEM SHOULD BE REPLACED BY A COMPUTER, AND SHOULD JUST ALL BE AUTOMATED. HE THOUGHT WHENEVER THE FEDS GOT INVOLVED WITH CHANGING THE MONEY SUPPLY THEY SCREWED UP. SO, WE JUST MIGHT AS WELL HAVE A COMPUTER. NEXT SLIDE. SORRY.  

>>> SO, THE BENEFIT-COST RATIO IS ANOTHER WAY OF RELATING THE PRESENT VALUE TO THE INVESTMENT. IT'S JUST THE -- IN THIS CASE, IT'S JUST THE RATIO OF THE PRESENT VALUE TO THE INVESTMENT. AND WE SAY IT'S RATIONAL FOR GOVERNORS OR LEGISLATORS TO FUND PROGRAMS THAT HAVE -- ONLY IF THEY HAVE THE BENEFIT-COST RATIO GREATER THAN 1, WHICH MEANS THAT THE NET PRESENT VALUE IS GREATER THAN ZERO. AND USUALLY WE EXPRESS IN THE VR WORLD OR IN OTHER SOCIAL PROGRAM WORLDS, WE'LL EXPRESS THIS AS A DOLLAR INVESTED TODAY WILL YIELD THE NUMERATOR THE PRESENT VALUE OF THE INVESTMENT IN SO MANY YEARS NEXT SLIDE.  

>>> NOW WE GET TO RETURN ON INVESTMENT. RETURN ON INVESTMENT IS THIS FORMULA. IT'S THE PRESENT VALUE MINUS THE INVESTMENT COST DIVIDED BY THE INVESTMENT COST. IT'S THE PERCENTAGE TERMS OF YOUR NET PRESENT VALUE. WHEN WE DO A ROI, WE CAN REPORT IT TO THE PUBLIC IN A NUMBER OF DIFFERENT WAYS. WE CAN TALK ABOUT IT IN PERCENTAGE TERMS, IN WHICH CASE WE'D HAVE TO MULTIPLY THIS FORMULA BY 100. WE CAN TALK ABOUT IT AS A PAY BACK HERE IF WE GET A $5 RETURN ON A $4 INVESTMENT IN FOUR YEARS, THEN WE WOULD DIVIDE $5 BY 4 AND SAY THAT THE PAY BACK PERIOD IS 1 AND A QUARTER YEARS. SO, WE CAN REPORT IT THAT WAY. IT'S USUALLY REPORTED AS INVEST THE DOLLAR TODAY AND GET A PRESENT VALUE RETURN IN THE FUTURE. OR WE CAN ANNUALIZE THE PERCENTAGE RATE. SO, I HAVE AN EXAMPLE HERE. A DOLLAR PENT IN THE PROGRAM RETURNS $6.50 EIGHT YEARS FROM NOW. NOW, THIS IS KIND OF AMBIGUOUS AND THIS ALWAYS DRIVES ME CRAZY WHEN I SEE THIS KINDS OF STATIONS. IT'S AMBIGUOUS AS TO WHETHER THE ROI IS 5.5 OR 6.5. BUT IN THIS CASE LET'S ASSUME THAT THE ROI IS 6.5. THEN WE WOULD REPORT THIS PROGRAM AS HAVING A RETURN OF 650%, OR WE COULD SAY THIS PROGRAM HAS A PAY BACK PERIOD OF 8 YEARS DIVIDED BY 6.5 OR 1.23 1%. OR WE COULD ANNUALIZE THE RATE OF RETURN AND I'M REALLY EMBARRASS TODAY SAY. I RECALCULATED THIS ON THE PLANE YESTERDAY AND THAT NUMBER IS WRONG. THE NUMBER SHOULD BE IN CASE YOU DOWNLOADED THIS POWERPOINT, IT'S 28.64%. SO, AND THE WAY YOU ANNUALIZE THE RATE OF RETURN IS BY -- YOU ASSUME COMPOUND INTEREST. AND, SO, YOU USE THE FORMULA THAT 1 PLUS THE ANNUAL RATE OF RETURN, THAT FORMULA RAISED TO 8 IN THIS CASE, OR THE TIME PERIOD EQUALS BENEFIT COST RATIO. THIS WILL BE A QUIZ ON THIS AFTER I'M DONE, BY THE WAY. WHAT I REALLY WANT, AND I'LL EMPHASIZE TODAY, THAT'S ALL KIND OF INTRODUCTORY MATERIAL. WHAT I REALLY WANT TO EMPHASIZE TODAY ARE WHAT I THINK ARE THE TWO KEY INGREDIENTS IN DOING AN ROI STUDY. THE FIRST OF THESE IS THE COUNTERFACTUAL THAT GETS USED. AND THE SECOND IS THE TIME PERIOD THAT YOU USE FOR MEASURING THOSE OUTCOMES, HOW FAR OUT IN THE FUTURE DO YOU ACTUALLY OBSERVE THINGS. NEXT SLIDE, PLEASE. THANK YOU, DARLENE.  

>>> SO, THE COUNTERFACTUAL IS DEFINED AS THE CIRCUMSTANCES THAT WOULD OCCUR IF THE INVESTMENT WASN'T MADE, THE ACTION WASN'T TAKEN. SO, IN MY INTRODUCTORY MICRO ECONOMICS CLASS, I TEACH THE CONCEPT OF OPPORTUNITY COST SO, WHEN YOU ARE LOOKING AT THE COST OF SOMETHING, THE COST OF PROVIDING SERVICES OR THAT, YOU KNOW, WHATEVER YOU'RE DOING WITH THE MONEY, YOU NEED TO MEASURE THE BENEFITS RELATIVE TO WHAT THE NEXT USE OF THAT MONEY WOULD BE, AND THAT'S THE COUNTERFACTUAL. AND, SO, WHEN YOU'RE DOING AN ROI YOU HAVE TO DO IT IN TERMS OF NET IMPACT. YOU PROVIDE SERVICES TO AN INDIVIDUAL. YOU HAVE TO MEASURE THAT RELATIVE TO THE NEXT BEST ALTERNATIVE THAT  WOULD HAVE HAPPENED TO THAT INDIVIDUAL. THAT IS THE COUNTERFACTUAL. COUNTER FACTUALS ARE A DIFFICULT CONCEPT FOR THE GENERAL PUBLIC TO UNDERSTAND. MY FATHER-IN-LAW STILL DOESN'T GET IT. IN THE POLITICAL WORLD, THE QUESTION IS DID THE STIMULUS WORK?  DID RO WORK OR NOT WORK?  WELL, I DON'T WANT TO BRING POLITICS TO IT IN THIS POLITICAL SEASON, BUT THE PRESIDENT IS PRETTY MUCH GETTING PAM ERRED BY THE GENERAL BELIEVE THAT IT DID NOT WORK. MOST, IF NOT ALL SERIOUS ECONOMIC STUDIES OF ARRA, HAVE SHOWN THAT WITHOUT THAT $8 29 BILLION, THE UNEMPLOYMENT RATE WOULD HAVE BEEN MUCH HIGHER. IT WOULD HAVE BEEN LIKE 12% INSTEAD OF PEAKING OUT AT 12%. SO, THE COUNTERFACTUAL IN THAT QUESTION IS WHAT WOULD HAVE HAPPENED WITHOUT ARRA?  IN THE COURSE WE DIDN'T OBSERVE THAT WORLD, WE DON'T KNOW. BUT ALMOST ALL ECONOMIC RESEARCH HAS SUGGESTED WOULD BE IN MUCH WORSE SHAPE. YES, MICHAEL.  

>> [SPEAKER NOT UNDERSTOOD].  

>> SURE. WELL, IT'S REALLY PART OF THE ART OF DOING AN ROI IN HOW YOU DECIDE WHAT YOUR COUNTERFACTUAL IS. IN THIS QUESTION I SET UP THE COUNTERFACTUAL AS CONGRESS WOULD HAVE NOT -- WOULD HAVE DONE ZERO. IN FACT, THE REPUBLICANS HAD PUT A BILL IN AT 715 BILLION OR SOMETHING LIKE THAT. SO, THE COUNTERFACTUAL MIGHT HAVE BEEN A SMALLER STIMULUS. A LOT OF DEMOCRATS WANTED TO MAKE IT BIGGER. SO, THE COUNTERFACTUAL WOULD MAKE IT BIGGER THAN 8 29 BILLION. BUT ANYWAY, WHEN YOU'RE DOCUMENTING YOUR ROI STUDY YOU NEED TO BE VERY SPECIFIC ABOUT WHAT COUNTERFACTUAL YOU'RE USING. THAT WAS A GREAT QUESTION. THANKS, MICHAEL.  

>>> SO, IN MY WORLD, I DO A LOT OF ROI ON TRAINING. WE USE SOMETHING CALLED THE MINCER MODEL AND MY SECOND DID THIS DIAGRAM FOR A REPORT RECENTLY SO I GET A LOT OF DATA TO USE IT. BASICALLY IN THIS DIAGRAM, THE COUNTERFACTUAL CALCULATING AN ROI FOR A TRAINING PROGRAM, THE LINE THAT STARTS ON THE Y AXIS AND -- I WISH I HAD A POINTER. I DO?  OKAY. I WISH I KNEW HOW TO USE A POINTER.  

[LAUGHTER]

>> OH, THERE IT IS, OKAY. THAT LINE RIGHT THERE IS THE COUNTERFACTUAL. THAT'S THE EARNINGS OF AN AVERAGE PERSON, AND IT GROWS OVER TIME BECAUSE OF PRODUCTIVITY. THIS IS THE TRAINING PERSON WHO GOES INTO TRAINING OVER HERE, HAS REDUCED EARNINGS AND THEN THEIR EARNINGS TAKE OFF. AND, SO, THE BENEFIT IN THIS SCENARIO IS THE SHADED AREA, AND THE COST IS -- THE TRAINING COSTS PLUS THE FOREGONE EARNING OF THE INDIVIDUAL THAT TOOK THE TRAINING. THE PERIOD, THE NUMBER 12 APPEARS IN THIS DIAGRAM BECAUSE WE HAD 12 QUARTERS OF OUTCOME DATA THAT WE WERE LOOKING AT. AND IN THE STUDY I'M GOING TO SHOW YOU IN A MINUTE SO, WE ACTUALLY STOPPED OUR OBSERVATION AT 12 QUARTERS. THAT'S WHY 12 IS THERE. NEXT SLIDE.  

>>> SO, IN THE WORLD OF EVALUATION, HOW DO YOU DECIDE OR HOW DO YOU ESTIMATE THAT NET IMPACT?  THE COUNTERFACTUAL IS AN IMAGINARY SITUATION. YOU NEVER OBSERVED THE COUNTERFACTUAL, AND, SO, YOU HAVE TO USE SOME STATISTICAL TRIPS TO FIGURE OUT WHAT THE COUNTERFACTUAL IS. ONE, IN THE PREFERRED STATISTICAL TRICK AMONG EVALUATORS IS RANDOM ASSIGNMENT. IN MY DIAGRAM, YOU HAVE PEOPLE COMING IN FOR TRAINING AND YOU FLIP A COIN AND SOME PEOPLE YOU TRAIN, SOME PEOPLE YOU DON'T. AND THEN THE PEOPLE YOU DON'T TRAIN ARE THE COUNTERFACTUAL FOR THE PEOPLE YOU DO TRAIN AND YOU CAN OBSERVE OUTCOMES OVER TIME AND SEE WHAT THE EFFECT OF THE TRAINING IS. RANDOM ASSIGNMENT, OF COURSE, IS EXTREMELY DIFFICULT IF NOT IMPOSSIBLE IN THE VR WORLD. SO, METHOD NUMBER 2 IS SOMETHING WE CALL QUASI-EXPERIMENTAL, WHICH MEANS WE HAVE SOME ADMINISTRATIVE DATA ABOUT PARTICIPANTS AND WE HAVE SOME ADMINISTRATIVE DATA ABOUT PEOPLE THAT WE THINK LOOK LIKE PARTICIPANTS BUT DIDN'T RECEIVE SERVICES. AND WE COMPARED THE TWO OVER TIME. OKAY, I'M GOING TO GIVE YOU SOME NUMBERS IN A BIT, AND THAT'S THE TECHNIQUE THAT I USED AND I'LL EXPLAIN IN MORE DETAIL. THE THIRD METHOD IS THE REGRESSION METHOD WHERE YOU HAVE SOME DATA ON PEOPLE, SOME OF WHOM RECEIVED SERVICES AND SOME OF WHOM YOU DIDN'T RECEIVE SERVICES AND YOU DO A STATISTICAL MODEL USING ALL OF THE DATA. AND THE FOURTH WAY IS POST MINUS PRE WHICH IS ESSENTIALLY WHERE YOU USE THE CUSTOMER'S PRIOR EXPERIENCE AS THE COUNTERFACTUAL FOR THEIR POST SERVICE EXPERIENCE. AND YOU ASSUME THAT THE DIFFERENCES BETWEEN AFTER SERVICES AND BEFORE SERVICES ARE DUE TO THE SERVICES. GENERALLY WE DON'T LIKE POST MINUS PRE BECAUSE THE WORLD CHANGES. THERE'S A DIFFERENT ECONOMY. PEOPLE ARE OLDER. AND POST MINUS PRE IS A PRETTY WEAK METHODOLOGY. NEXT SLIDE.  

>>> SO, THAT'S THE COUNTERFACTUAL. NOW LET ME TALK ABOUT THE OUTCOME PERIOD. I USE 12 QUARTERS IN MY STUDY. BUT WHEN YOU'RE DECIDING HOW LONG TO FOLLOW FOLKS, YOU HAVE SOME ISSUES. FIRST OF ALL, IT TAKES TIME TO OBTAIN BENEFITS. I REFERRED TO A PPV STUDY THAT'S A STUDY OF TRAINING BY PUBLIC AND PRIVATE VENTURES IN PHILADELPHIA. PURPORTEDLY THE ONLY RANDOM ASSIGNMENT EXPERIMENT LOOKING AT SECTORAL PROGRAMS, AND THEY FOUND REALLY NEGATIVE RESULTS IN ONE YEAR, BUT THEN QUITE POSITIVE RESULTS IN YEARS TWO AND YEARS THREE AFTER TRAINING. SO, IT TOOK THEM SOMETIME. I HAVE A COLLEAGUE WHO DOES A LOT OF WORK ON PRESCHOOL, AND THERE'S ANOTHER INTERVENTION THAT TAKES A LONG TIME UNTIL YOU GET THE ECONOMIC BENEFITS. I KNOW AT OUR IRI MEETING, DAVID DEAN WAS MAKING THE POINT THAT IN THE VR WORLD FOR SOME SERVICES AND SOME GROUPS OF CUSTOMERS, IT MAY TAKE 6 TO 10 YEARS BEFORE YOU SEE THE BENEFITS. SO, HOW FAR OUT YOU GO ON THAT NUSER DIAGRAM IS IMPORTANT BEFORE IT WILL AFFECT THE RATIO OF THE SHADED AREA TO THE CROSS.  >>> TYPICALLY A LONGER TIME FRAME WILL INCREASE YOUR BENEFIT COST RATIO. SERVICES DO GOOD THINGS FOR PEOPLE, AND THOSE SERVICES WILL GROW OVER -- THE BENEFITS TEND TO GROW OVERTIME. SO, TYPICALLY A LONGER TIME FRAME WILL MAKE YOU LOOK BETTER. HOWEVER, A LONGER TIME FRAME MAY MEAN THAT YOU HAVE TO EXTRAPOLATE INTO THE FUTURE, BEYOND THE DATA THAT YOU'RE OBSERVING. AND THERE'S LOTS OF STATISTICAL UNCERTAINTY AROUND EXTRAPOLATION. AGAIN, AN EXAMPLE I'M ABOUT TO PRESENT, I EXTRAPOLATE OUT FOR A WHOLE LIFETIME FOR SOME PEOPLE. AND THEN THE SHORT TIME FRAME IS USUALLY WHAT THE POLICY MAKERS WANT. I'VE DONE A LOT OF WORK FOR THE STATE OF WASHINGTON. AND WHEN I PRESENT MY WORK TO THE POLICY MAKERS, I OFTEN GET -- WHY SHOULD WE EVEN PAY ATTENTION TO THIS ROI?  WE'RE TALKING ABOUT PEOPLE WHO WERE SERVED FIVE, SIX YEARS AGO. SO, POLICY MAKERS TEND TO HAVE A VERY HIGH DISCOUNT RATE, SHORT TIME FRAME. NEXT SLIDE. SO, HERE'S SOME PUBLISHED DATA FROM WORK THAT I DID IN WASHINGTON STATE ON THEIR VR PROGRAM. I'VE RECENTLY REDONE THESE ESTIMATES. THIS DATA COMES FROM 2002 AND 2003 CLIENTS. SO, THIS IS OLD DATA. BUT WHAT I OBSERVED WAS FOR THE AVERAGE CUSTOMER, WENT THROUGH VR SERVICES IN WASHINGTON, THEY EARNED AN ADDITIONAL $9,034 IN THE FIRST 10 QUARTERS AFTER RECEIVING THEIR SERVICES. ON AVERAGE THEY GOT FRINGE BENEFITS WORTH $1800. UNFORTUNATELY THEY HAD TO PAY TAXES ON THAT INCREMENTAL MONEY OF $1500. THEY ACTUALLY INCREASED THEIR PARTICIPATION IN UNEMPLOYMENT AND GOT $400 IN UNEMPLOYMENT. THEY TENDED TO BE MORE IN THE LABOR FORCE AND THEREFORE MORE ELIGIBLE FOR UNEMPLOYMENT. THEY LOST $900 IN TANIF FOOD STAMPS AND MEDICAID VALUE. AND INTERESTINGLY, THE FOREGONE EARNINGS FOR THE TRAINING PROCESS, GOING BACK ON THE MINCER DIAGRAM, WHEN A PERSON IS IN TRAINING, GENERALLY THEIR EARNINGS ARE LOWER THAN THE COUNTERFACTUAL. IN THIS CASE FOR THESE FOLKS THEIR EARNINGS DURING TRAINING WERE ACTUALLY HIGHER THAN THE COUNTERFACTUAL. SO, THEY ACTUALLY EARNED $707 MORE THAN THE ALTERNATIVE GROUP. AND ON AVERAGE THE STATE IN 2010 DOLLARS SPENT $9,347 ON THESE FOLKS.  

>>> THE COUNTER FACTUALLY USED WERE CUSTOMERS WHO WERE NOT SERVED. THEY APPLIED FOR SERVICES, BUT WERE NOT SERVED. YOU ALL KNOW THE CODE. I CAN'T REMEMBER THE CODE. BUT ANYWAY THAT'S THE COUNTERFACTUAL I'M USING. I'M USING A DISCOUNT RATE OF 3%. AND THEN THEY EXTRAPOLATED OUT TO AGE 65. AND REALLY, THAT IS JUST TOTAL ART. I MEAN, I THINK MY COLLEAGUES IN THE ECONOMISTS UNION WOULD TAKE MY UNION CARD AWAY IF THEY KNEW HOW I DID THIS.  

[LAUGHTER]

>> IT'S JUST A MATTER OF -- CAN YOU GO BACK A COUPLE SLIDES TO THAT DIAGRAM?  THERE. EARNING OF THE CUSTOMERS ARE BIGGER THAN THE COUNTERFACTUAL. BUT I'M ONLY OBSERVING THEM UP TO PERIOD 12. I DON'T KNOW WHAT THE HECK IS GOING TO HAPPEN TO THEM AFTER THAT. YOU CAN MAKE THE CASE THAT THAT SHOULD INCREASE LIKE I'VE DRAWN IT. IT SHOULD ACCELERATE LIKE I'VE DRAWN IT BECAUSE AFTER ALL, YOUR CUSTOMERS ARE GETTING WORK EXPERIENCE. THEY'RE EARNING MORE, AND THAT SHOULD PAYOFF IN THE FUTURE AND IT SHOULD GROW BIGGER. YOU CAN ARGUE THAT THE LINE SHOULD GO BACK TOWARD THE COMPARISON GROUP, THAT THE SKILLS AND TRAINING WILL DEPRECIATE OVER TIME. THE COMPARISON GROUP WILL CONTINUE TO GET TRAINED. SO, THAT LINE SHOULD GO BACK TOWARD THE COUNTERFACTUAL. AND I THINK ACTUALLY THE NUMBERS I USED HELD THAT BENEFIT CONSTANT TILLAGE 65. SO, IT DIDN'T -- I DIDN'T HAVE IT ACCELERATE BECAUSE THAT REALLY DRIVES UP THE RETURN ON INVESTMENT. AND I DIDN'T DEPRECIATE IT. YES.  

>> [INAUDIBLE].  

>> SO, HIS QUESTION IS IF I DISCOUNT IT, SHOULDN'T I ASSUME THAT THE FUTURE EARNINGS ARE GOING TO GROW WITH INFLATION?  AND THE ANSWER IS NO, BECAUSE WHAT IS IMPORTANT IS A DIFFERENCE IN FUTURE EARNINGS BETWEEN THE CUSTOMERS THAT RECEIVE SERVICES AND THE COUNTERFACTUAL GROUP. AND, SO, BOTH OF THEIR EARNINGS SHOULD BE GROWING WITH PRODUCTIVITY OR INFLATION. WHAT'S IMPORTANT HERE AGAIN IS THE NET IMPACT. IT'S THE DIFFERENCE BETWEEN THOSE TWO LINES AND THE QUESTION IS DOES THAT DIFFERENCE GROW OVER TIME OR DOES THE DIFFERENCE SHRINK OVER TIME. AND THE NUMBERS, I ACTUALLY HELD IT EXACTLY CONSTANT OVER TIME, BUT I STILL DISCOUNTED BACK TO THE PRESENT. OKAY. DOES THAT ANSWER YOUR QUESTION?  BACK ONE. SO, I DID THIS ART EXTRAPOLATION OUT TO THE FUTURE. I SHOWED THAT IN THEIR LIFETIME THE AVERAGE AGE AT EXIT WAS 39.4. SO, I EXTRAPOLATED OUT TO 65. THEY ENTERED THAT MUCH EXTRA, THEY PAID THAT MUCH EXTRA IN TAXES, LOST A BUNCH OF TRANSFER INCOME. AND NOW THE NEXT SLIDE. THE ROIs FROM THIS CALCULATION, YOU CAN'T ACTUALLY CALCULATE AN ROI FOR THE INDIVIDUAL BECAUSE THEIR INVESTMENT TURNED OUT TO BE NEGATIVE. THEY'RE ACTUALLY BETTER OFF IN THE PROGRAM. SO, YOU CAN'T IN THIS EXAMPLE CALCULATE AN INDIVIDUAL'S ROI. IF YOU LOOK AT THE TAX PAYERS WHO GAIN TAXES AND REDUCED WELFARE COSTS THAT PAY THE PROGRAM COSTS, THEY ACTUALLY HAVE A NEGATIVE RETURN IN THE FIRST 10 QUARTERS. IT EVENTUALLY TURNS POSITIVE OVER THE LIFETIME IF YOU BUY MY ASSUMPTIONS. FOR SOCIETY AS A WHOLE WHICH ADDS THE INDIVIDUAL'S FOOD, THE TAXPAYER'S -- IT'S A FAIRLY NICE RETURN, 2.6% OVER THE FIRST 10 QUARTERS, 6% OVER THE LIFETIME. AND IN THIS CASE, A DOLLAR INVESTED EARNED A DOLLAR AND A QUARTER BY 2-1/2 YEARS LATER, $6.86 OVER THE PERSON'S LIFETIME.  

>>> SO, THIS IS A REAL WORLD EXAMPLE. THIS DATA WAS PRESENTED TO THE VR PEOPLE IN WASHINGTON. WASHINGTON IS REALLY A WONDERFUL STATE TO WORK FOR. I DIDN'T GET ANY LAP FOR IT.  

>> YEA.  

[LAUGHTER] 

>> THEY HAVE, BY LAW, THAT EVERY FOUR YEARS THEY HAVE TO CALCULATE RETURN ON INVESTMENTS FOR ALL OF THEIR WORK FORCE DEVELOPMENT PROGRAMS. SO, I DO THIS SORT OF APPLICATION FOR ALL OF WIA, FOR COMMUNITY COLLEGES, FOR VR, FOR SERVICES TO THE BLIND, FOR APPRENTICESHIP AND SO FORTH. I'VE JUST FINISHED MY THIRD CYCLE WITH FOUR YEARS OF DOING THAT.  

>>> IF YOU WERE A STATE, I'M OFTEN ASKED HOW CAN WE DO THIS IN OUR STATE OR IN OUR AGENCY. THESE ARE THE DATA NEEDS THAT YOU HAVE TO HAVE IN ORDER TO DO A RIGOROUS STUDY LIKE THE ONE THAT I JUST REPORTED ON. I WON'T GO THROUGH THIS, BUT BASICALLY YOU NEED DEMOGRAPHICS AND YOU NEED TO FOLLOW THE INDIVIDUALS, I'D SAY, FOR AT LEAST THREE YEARS. DAVID DEAN WOULD ARGUE FOR SIX OR 10 YEARS. AND GENERALLY, WE USE WAGE RECORDS, THAT'S WHAT I USE IN WASHINGTON TO CALCULATE PEOPLE'S EARNINGS. NEXT SLIDE. FOR THE ENTIRE CASELOAD TO GET ON THE COST SIDE, YOU NEED THE EXPENDITURES FOR SERVICES TO EACH INDIVIDUAL AS WELL AS SOMEHOW PRORATING YOUR ADMINISTRATIVE COSTS OVER THE ENTIRE CASELOAD, OKAY. THE STATE DID THAT FOR ME IN WASHINGTON'S CASE. AND LASTLY, NEXT SLIDE, YOU NEED A COMPARISON GROUP. YOU NEED THE COUNTERFACTUAL AND YOU NEED A WHOLE LOT OF DATA ABOUT THE COUNTERFACTUAL. IN THE VR CASE IN WASHINGTON I WAS THE DATA SOURCES YOU'RE FAMILIAR WITH ON NONSERVED APPLICANTS. THEN WE GOT THEIR WAGE RECORD DATA AND ALL OF THEIR WELFARE DATA AND SO FORTH. FOR OTHER PROGRAMS WE USE THE EMPLOYMENT SERVICE AS OUR COUNTERFACTUAL, AND WE'RE ABLE TO FOLLOW OUGHT OF THEIR DATA AND SO FORTH. BUT ANYWAY, THE DATA NEEDS ARE QUITE BURDENSOME FOR BOTH YOUR CUSTOMERS WHICH GENERALLY YOU'LL HAVE EXCEPT FOR THE OUTCOME DATA, YOU MAY HAVE, BUT ALSO FOR SOME COMPARISON GROUP. SO, WHAT'S MY BOTTOM LINE ABOUT ROAs?  WHAT GOOD ARE THEY?  FIRST OF ALL, I THINK YOU NEED TO DO THEM FOR THE MARKETING GAME. IT SEEMS LIKE EVERY PROGRAM IS TALKING ABOUT A DOLLAR INVESTED WILL RETURN SO MANY DOLLARS IN THE FUTURE. AND, SO, KIND OF IN A DEFENSIVE MODE YOU NEED TO CALCULATE ROIs. AS A PERSON THAT CALCULATES ROIs AND UNDERSTANDS WHAT'S GOING ON, I THINK IT'S MUCH MORE IMPORTANT TO USE THE PROGRAM IMPROVEMENT BY CALCULATING ROIs FOR SUBGROUPS OF YOUR POPULATION OR DIFFERENT AREAS, CLIENT TYPES, SERVICES AND SO FORTH, AND SETTING SOME OF THE PARAMETERS TO ASK WHAT IF QUESTIONS, WHAT IF WE PROVIDED THIS KIND OF SERVICE RATHER THAN THAT KIND OF SERVICE?  ONCE YOU PUT TOGETHER AN ROI DOING THESE KIND OF CALCULATIONS ARE VERY EASY AND I THINK THEY ARE THE IMPORTANT CALCULATIONS. MY PROBLEM WITH ROIs IN THE ACCOUNTABILITY SENSE AND REPORTING TO THE POLICY MAKER SENSE AND REPORTING TO THE GOVERNOR SENSES THEY'RE QUITE A GAMBLE AND THEY ARE REALLY SENSITIVE TO THE ASSUMPTIONS. WHEN I DO THOSE LIFETIME ROIs, I MEAN, I'M TELLING YOU, I LITERALLY SIT AT MY DESK AND KIND OF DREAM. I TRY TO MAKE THEM BASED ON DATA AS MUCH AS I CAN. I LOOK AT WHAT'S GOING ON DURING THOSE FIRST 12 QUARTERS AND EXTRAPOLATE OUT. AS I SAY, THEY'RE REALLY A GAMBLE. I'M NOT SURE, I DON'T INTERACT A LOT WITH POLICY MAKERS, BUT I DO INTERACT SOME WITH POLICY MAKERS, AND I DON'T KNOW HOW MUCH THEY REALLY ARE INFLUENCED BY THESE DOLLAR TODAY, SAY GIVES US SO MANY DOLLARS IN THE FUTURE. I THINK THEY'RE STILL BOMBARDED WITH THOSE FIGURES, YOU NEED TO HAVE THEM BUT IT'S ALMOST NOT EFFECTIVE. MY HYPOTHESIS. ANYWAY, I WANT TO FINISHED UP HERE WITH AUDIENCE PARTICIPATION. MY BIGGEST HIGHLIGHT PRIOR TO BEING A KEYNOTE SPEAKER TODAY --  

[LAUGHTER]

>> WAS I WAS INVITED TO THE WHITE HOUSE LAST AUGUST TO GIVE THEM SOME ADVICE ON THE EMPLOYMENT SITUATION. AND, SO, I'M SAYING, IMAGINE THAT I WAS INVITED BACK AND I CONVINCED THE WHITE HOUSE AND CONGRESS TO PASS A LAW THAT EVERY SINGLE ESTABLISHMENT IN THE COUNTRY THAT ENGAGES IN INTERSTATE COMMERCE MUST EMPLOY A FULL-TIME DOOR PERSON AND MUST PAY THAT PERSON $10 AN HOUR. THIS WOULD BE A GREAT PROGRAM. I MEAN, WE NEED JOBS AT THIS POINT IN TIME AND THIS WOULD PUT A LOT OF PEOPLE TO WORK. IT WOULDN'T DISPLACE ANYBODY. AND, SO, THIS WOULD BE A TERRIFIC PROGRAM. I ASSUME THAT VOC REHAB AGENCIES WILL TRAIN THEIR CUSTOMERS TO BE THESE FULL-TIME DOOR PEOPLE. WE'RE GOING TO HAVE A TWO-WEEK TRAINING PROGRAM. THE FIRST WEEK WILL BE HOW YOU GREET CUSTOMERS COMING IN THE DOOR. THE SECOND WEEK WILL BE WHAT YOU SAY TO CUSTOMERS AS THEY'RE GOING OUT THE DOOR.  

[LAUGHTER]

>> AND MAYBE WE'LL HAVE A LITTLE TRAINING ON HOW YOU REPAIR DOORS IN CASE THEY BREAK. AND IT COSTS $500 PER CUSTOMER. TERRIFIC OUTCOMES, 80% PLACEMENT, NO DISPLACEMENT. YOU'RE NOT DISPLACING ANYBODY ELSE IN THE ECONOMY. NEXT SLIDE. IF YOU'RE AN AGENCY WITH A THOUSAND VR CUSTOMERS, THE COST TO YOU IS $500,000 AND THE EARNINGS OF THOSE CUSTOMERS ADD UP OVER FIVE YEARS TO BE $80 MILLION. NEXT SLIDE.  

>>> THE NEXT SLIDE IS THE SAME ONE I USE IN WASHINGTON, UNSERVED APPLICANTS. THEY END UP 60% OF THEM GET EMPLOYED AT 9.50 AN HOUR. AND I'VE DONE MY NET ACCURATE IMPACT OF CUSTOMERS LOOKING AT THE COUNTERFACTUAL AND THE NET IMPACT IS $4.6 MILLION A YEAR FOR FIVE YEARS, TOTAL OF $23 MILLION. AND LO AND BEHOLD, ASSUMING A 5% DISCOUNT RATE, THIS HAS A RETURN INVESTMENT OF 9.42%. YOU INVEST A DOLLAR AND GET BACK $9 IN FIVE YEARS. THE PAY BACK PERIOD IS ONLY THREE MONTHS. AND THE QUESTION FOR YOU ALL IS WHAT'S WRONG WITH THIS?  ANYBODY?  YEAH.  

>> [INAUDIBLE].  

>> IT'S A PRIVATE SECTOR JOB. THE EMPLOYER HAS TO PAY THE EMPLOYEES. AND, SO, SOME BUSINESSES MAY GO OUT OF BUSINESS, BUT THAT HAPPENS ANYWAY WITH ANY REGULATION. ANY TIME YOU IMPOSE A COST ON A BUSINESS, YOU'RE GOING TO DRIVE SOME BUSINESSES OUT OF BUSINESS. BUT THAT'S ECONOMIC DYNAMICS. SO IN THIS CASE, THE PRIVATE SECTOR IS PAYING THE WAGES. DOES ANYBODY ELSE WANT TO HAZARD A GUESS AS TO WHAT'S WRONG WITH THIS SCENARIO?  IT SOUNDS GREAT. I SHOULD HAVE TOLD PRESIDENT OBAMA ABOUT THIS LAST YEAR.  

[LAUGHTER]

>> I DIDN'T GET A CHANCE TO MEET HIM, BUT I DID GET A CHANCE TO MEET HIM IN THE WHITE HOUSE, WHICH WAS PRETTY COOL. OKAY. WELL, REMEMBER THAT THE TWO THINGS I WANTED TO TALK TO YOU ABOUT THIS MORNING WERE COUNTERFACTUAL AND OUTCOME PERIOD. IT HAS TO BE THE CASE THAT I'VE USED A BAD COUNTERFACTUAL HERE BECAUSE WE ARE PUTTING PEOPLE TO WORK IN ESSENTIALLY A NONPRODUCTIVE USE OF THEIR TIME. SO, IF I HAD A BETTER COUNTERFACTUAL AND HAD PEOPLE ACTUALLY MATCH TO REAL JOBS IN THE WORLD AS OPPOSED TO MAKE WORK JOBS, THEY WOULD END UP MAKING MORE MONEY THAN THIS SCENARIO. SO, THE PROBLEM IS THE COUNTERFACTUAL.  

>>> THE SECOND PROBLEM IS THE OUTCOME PERIOD. IT MAY BE THE CASE THAT THIS LOOKS NICE FOR TWO YEARS OR THREE YEARS, BUT EVENTUALLY BECAUSE WE DON'T HAVE THOSE JOBS IN OUR ECONOMY NOW, THEY CAN'T BE THE MOST PRODUCTIVE USE OF LABOR. EVENTUALLY IT HAS TO BE THE CASE THAT THE BENEFITS WILL NOT EXCEED THE COST AND THIS WILL END UP BEING A NEGATIVE OR INEFFECTIVE USE OF FUNDS. END UP SO, THE METHOD TO MY MADNESS WAS TRYING TO GET YOU TO FOCUS ON THOSE TWO VERY, VERY KEY INGREDIENTS, THE COUNTERFACTUAL AND THE OUTCOME PERIOD. SO, I THANK YOU FOR YOUR ATTENTION. ENJOY THE CONFERENCE. 

(APPLAUSE)

>> ALL RIGHT. WHAT WE'RE GOING TO DO IS WE'RE GOING TO TRANSITION NOW. I'M GOING TO CHANGE LAPTOPS AND [INAUDIBLE]. A FEW MOMENTS TO CELEBRATE OUR MOVEMENT FORWARD AS A SUMMIT GROUP. THANK YOU, MICHAEL, FOR BEING WITH US [INAUDIBLE]. 

>> I THINK, YOU KNOW, THERE'S SCIENTIFIC EVIDENCE THAT [SPEAKER NOT UNDERSTOOD].

[PAUSE] 

